2R

XINGCHEN

EARIEKKIFR T

B JME= @S KJY

St o
A0 AR A A

W TESME=EREL: KT

7 3t ias

IR
R 55"

=

S M ia

7

S i
e
T el

A1l

Sk fMA

B VS gL . KJU

@ )
40 | 4D
i If
032
A P
SN
ABERRR

KJT

% IR X
=555

-

E

A1

b33 54
EH55’

Sk fa 3 il

KJT

[\S)

s o EERY EAAT EAKE ﬁé ?LE
®D AT PAAT I S S ST T e s
KJY04-M3 M3X0.5| 3.1 3
KJY04-M5 M5X0.8 4 33
o4 10 [15.8/13.5| 9.6 | 6.3
KJY04-M6 M6x1.0| 4.8 | 3.3
KJY04-01S 1/8" 7.5 4
KJY06-M5 M5x0.8 | 4.2 | 3.3
6 KJY06-M6 M6x1.0 | 4.8 | 3.3 | 12 [17.7] 15 [11.8] 7.3
KJY06-01S 18" | 75| a
* MBI AERE: K. HBO. B, BEAA®GE: kK. B.
% e EREBS BRAAK  ERKE g
®D N @i AA1 H s L1 L ME
KJT03-M3 M3x0.5| 31| 48 | 7 | 10
KJT03-M5 M5x0.8| 4 | 48 | 7 | 10
2 KJT03-M6 M6x1.0| 48| 48 | 8 | 10
KJT03-01S 8" [75] 33| 10| 78] | ..
KJT23-M3 M3x0.5| 3.1 4.8 if 10
$3.2 KJT23-M5 M5X0.8| 4 4.8 4 10
KJT23-M6 M6x1.0| 48| 48 | 8 | 10
KJT23-01S 18" |75| 33| 10 | 7.8
KJT04-M3 M3x0.5| 31| 48 | 7 | 105
i KJT04-M5 msxos| 4 | 48| 7 [105] | o
KJT04-M6 M6X1.0| 4.8 4.8 8 10.5
KJT04-01S 1/8" b 3.3 10 8.5
KJT06-M5 M5x0.8| 42| 48 | 7 | 11.8
6 KJT06-M6 M6x1.0| 48| 48 | 8 | 11.8|17.5| 118
KJT06-01S 18" |75] 33| 10 | 10
¥ BEIRA MG K. BO. B, OEEARHAE: K. 2.
s me EER Y BIIART BLKE ﬁ% ?L?E
. miE AAM H s 11 L &%
KJU04-M3 M3X0.5( 3.1 3 7 129.3
KJU04-M5 M5x0.8| 4 |3.3| 7 |20.3
b4 9.6 [17.7] 5.8
KJU04-M6 M6x1.0| 4.8 | 3.3| 8 |20.3
KJU04-01S 18" | 75| 4 | 10] 30
KJU06-M5 M5x0.8| 42 | 33| 7 |33.1
$6 KJU06-M6 M6x1.0| 4.8 | 33| 8 [33.1(11.8] / | /
KJU06-01S 18" | 75 | 4 | 10 |33.8
* BRERAAGE: K. KO, B, BEEAERE: K. 2.
S8 A2 BEKE LR RIEFLEE
®D L S B
b4 KJT04-00 15.8 9.6 6.3
6 KJT06-00 17.1 11.8 7.3

* MEBRATERE: K. BIL. B, BRKA®HE: K. R.

% R TRSEHE EPPN 78
< P TEAR gk X ERt
b6 KJT04-06 b4 174 9.6 73

* BRI A

. BU. B, BREAEAE: K. R



